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Day 91 Evaluating Trig Functions

Warm-Up:
1. A water skier must be at least a horizontal distance of 50 feet from the boat in order to safely avoid
undertow from the propeller. If the angle of elevation is 35° from the skier to the pole how fong is the
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2 A 21-foot tree needs trimming. Safety guidelines say the angle made by the ladder and the ground
should be 70°. How long should the ladder be to reach the top of the tree?
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{ Day 9 (Part 1): Exploring Sine, Cosine, and Tangan?mAngie Restrictions
Using your calculator, complete the chart. Round to the nearest thousandth.
' Angle sin{angle) cos(angle} tan{angle)
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i, What do you notice about the sine column?

Describe the poitern.
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3. What do you notice about the tangent column? Describe the pattern
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i[_ Rememberll

a. Angles are measured in copians or fﬁﬁﬁ%ﬁf“ ¥
b. We have to check our mode to make sure the caleulator knows what measure we

are using!
i. Inthis class, we will always use
radians existl

fegd by f2E5 , but you should know that

- Make sure Degree is highlighted! (v cod culador

Day 9 (Part 2): Solving Trig Equations

1. Use the inverse trig functions on your caiculator to solve the fol!owmg equations:

a. sin(x)=0.3 X oo Sy (Q “}IIW:! o
b, sin(x+2)=15 NO SO - S

. 3sinx)=2 S PRTR BS a
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Solving Sine, Cosine ahd Tangent Equa*flons

1. We can solve equations involving _% ng , COS € and
AT g ek just like any other equation

2. Inverse operations of sine, cosine and tangent
i Sine ~» f“}‘; f-‘swg'
ii. Cosine > ¢og”

i, Tangent = g

3. Solve the equations and express your answer to the nearest tenth degree:

1. gin (x}= 0.6 2.cos (X)= 15 ., 3. tan {x) = «6 7
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Practice

Solve the following equations and express your answer to The nearest tenth degree:

1) sin(x)=0.8
W oE m”‘{i&hﬁ“}l’
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2) cos (x)=-0.78
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. 3) tan{x)=-9.5

-

P ‘%’K«@ﬂﬂ?{”{?-g 3
Vs -fﬁ’%ﬁ"

4) sin (x) = 0.366

5) gin (x) = -0.768
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6) 3tan (x) = -12.8
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8) 4cos{x)-6=-b2
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Day 9 (Part 3): Calculator Trig functions

An exploration

Use your graphing calculator to answer the following questions,

1. Use your calculator to find the following trig patios. Round your answ

ers to the nearest thousandth.

Sin {20) =

o, By h

Cos {40} =

0.7kl Tan {7

)= % HF

Sin {83 =

Mo datle

Cos (75) =

0. 4 j Tan (2

5)= 4 High

2. Find the sine, cosine, and tangent of a right triangle with a hypotenuse of 1 and angle of elevation of 45°.

a)

. O o

e)

What is specia about the tangent of 45°7

What is the sine of 45°, rounded to the nearest thousandth?

} What is the cosine of 45°, rounded to the nearest thousandth?

y Wwhat is the tangent of 45°, rounded to the nearest thousandth? §
, ) i . A

} What is special about the sine and cosine of 45°7 g (45 = rosl *"ﬁ\\%
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3. Use your calculator to find the following sine and cosine ratios.

Cos{20)= O.% ¥ L Cos (30 = &3 &b
sin (70)= 0 .94 Sin60= & Bl
Cos (60)= (2% Cos (75)= 9259
Sin(30)= .5 Sin(15)= @, 7%4

What do you notice about sine and cosine when the angles add to 90°7?

4, Use your calculator to find the following:

 Tanl40)= ©,¥ 349

. 5111.(.4.0.). —
cos (40} -

cos(SG

sin(50)
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What conclusion can you draw about the relationship between the tangent function and sine and cosine?
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